Je-g=id 1ford sregrass dess, gog
3t 2020 a% ;2 A
FoT: 8 i Geiter aerargdieIr 2020 ot 100
gaat ¢ 1) wedhm AT aE el fehar shvTgTa ahl.

2) wgATE ST gHAT dgtal fehar shrgraT ferart.
3) f¥. & ST 2020 VST Td UFAT=T ST gURT 3 ST dadTE Zay faeil Ardiet.

1. ¥ 72946 I7 H&IT 45 9 91T feedmaY 1 a1l 33d. a7 a = ?

A) 9 B) 1 C)2 D) O
2. @ g .91, oo /.97, stgw 1575 i 3 g . S AT A U
HEAT 75 STHA I FEL HEAT 9ITe.

A) 63 B) 25 C) 21 D) 70
3. GTAIA agaal=AT ALIST FT.
8a°-3b°—14ab ; 12b°+ 8ab-7a°

A) 20a’+ 11b° + 6ab B) a’+9b*-6ab

C) 15a°-9b’ + 6ab D) —a*-9b’ - 22ab
4. 15 fore= 350 et ferexeft o= #1er .

A) 3:70 B) 300:7 C) 30:7 D) 3000 : 7
5. ABCD df&METd ,mzD=150", L/A=B=,CTTB=7

A) 70° B) 150° C) 30° D)180°

6. 9 GHUATHT (ol ohHd af 10 TSvIT=aT @Yal hAdT Tael 3l . a¥ IT A d

HATAAT QTheT AT T 2

A) 9% B) 10% C) 1%% D) 1%%
7.  SFHAEAT ST £ PQR = AT 33T .
P
76°
S 73° Q R N
A) 49° B) 149° C) 61° D) 73°
8. W4 (x-2)=x+77TT x=7
A)5 B) 3 C) 1 D) %

9. 3003 AT HEIH b HAaTT HI0Td ?
A) (3,9,11,17) B)(5,7,11,13)
C)(3,7,11,13) D) (3,7,1317)




10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

THT 257 o Y. FE AT 3¢ TAT THS e, T TITF THSATHT e et 78t ?
A) 112 m B) 4l'm C)¥m D) 4'm

TohT AQBTAT =eaT 10 HHT 32 . T AT aq@T=AT FaTd HISAT SHa=[ ATal fohet ?
A) 5cm B) 10 cm C) 20cm D) 8cm

B R K E L —
A) 121 B) 0.121 C) 1.21 D) 0.0121
ATET 10 FHT , F&¥ 5.2 FHT 707 IHAT 2.8 HHT SAHOTAT STEFHHIAT o THT
TCIRED --mmmmmmmmm TEHA
A) 18 sq. cm. B)36sqg.cm. C)189.12 sg. cm. D) 94.56 sq.cm .
70000 AT 2 FUTH H¥HATS 9,100 %. g . T ATIATAT &L Tl T ?
A) 13% B) 6.5 % C)7 % D) 7.5 %
% o ATAAT G T =mmmmmmmee e .
A) 0.83 B) 0.832 C) 0.83 D) 0.83
TFaR FT: (-4m+7n)*="?
A) 4m’ - 28mn + 49 n’ B) 16m’ - 56mn + 49 n’
C) 16m* — 28mn + 49n’ D) 4m’ + 56mn — 49n°
OXYZP 2T AT g . XP = 60 ¥t , PZ =11 3ft 9w PY =t it et 2
X P
Y z
A) 71 cm B) 142 cm C) 61 cm D) 660cm
-4 . -5 13 _

9 " 127 18

4 -9 22 1

A) 39 B) 36 C) 39 D) 18
FIFT 9TET : 8m’” — 128n°

A) (4m +8n) (4m- 8n) B) 2(2m - 8n)(2m + 8n)
C) 2(4m-8n) (4m + 8n) D) (2m —4n) (2m + 4n)




20.

21,

22.

23.

24.

25.

26.

27.

28.

29.

6 FTME UF 17 15 fFaara of Fara . o= 19 9 feaard ol Fuarardt s

TR TR SITeq AT ?

A) 10 B) 15 C) 21 D) 4

U ATST 800 AT fAshelT T5gT 125 %. FHT ATAT . < ATS (=T @&l hAd fehd
grar ?

A) 925 Rs B) 675 Rs C) 125Rs D) 900 Rs

ST AT ATT 180° TEAT STTET AT 360°TEAT FHT STEHA AT HIATAT —--mmmmm FZOTATd
A) e ® M B) Y@ & C) IU7 &I D) wfaeme &

ThT AT & hes 114 THT G a1 6 §HT 3llg . T AT AT T HT ohat ?
A) 150 At B) 25 C) 50 A D) 19 A

qre4T. 1 +3 15

8 4 8

7 8 21 19
A) 15 B) 15 C) 20 D) &
afgeat T gt Teft oI F7.
5mn-3m’+4n° ; 2m’=7n°+9mn
A) 11n* + 5m’=4mn B) -10n° - 6m* — 4mn
C) 11n* -5 m’ = 4mn D) 11n® -5m* + 14mn.
BTt G FIOTaT T 2T ( )1(— - 12). =T BT = e 2

1 1 24 1 12

A) X — 144 B) )2 -144 C) 2-5+144 D) o- > +144

TaRT TOTAATITT 4080 FLAT FOTTThT 3570 FT ¥ gl F20 el .q% ArheT hefT
FI L HTA ?
A) 25 % B) 75 % C) 87.5% D) 87 %

5.1 e Tohelt asiT shedre 0.51 & 9eT1 fHeod ?

A) 4.50 B) 4.59 C) 10.2 D) 5.5

10, x, 26, 225, 0, 1.5 =T d&F=T GEEs 10 3. TCxX = ?
A) 10 B) 6 C) 0 D) 1




30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

FaTq qTeT : 81 x° — 289 y*
A) (9x + 19y ) (9x —19y)
C)(9y +17x) (9y - 17 x)

T wTar (-2) x(-3)*

B) (9x+ 17y ) (9x-17y)
D) (9x + 13y ) ( 9x — 13y)

1
V)

4’x 9
A) 18 B) -18 C) -36 D) 36
siw V0.01530169 = 0.1237 a¥V1.530169 = ?
A) 0.01237 B) 1.1237 C) 1.123 D) 1.237
1 T3 a1 Fwa 300 ¥ &g . T% AT 5 agyi= fhaa et ?
A) Rs.60 B) Rs.12 C) Rs. 125 D) Rs.25
(Fx-%yy =72
A (£X - xy+ §Y) B) (5% -3 X+ &V)
C) (Fx-Fxy+&v) D) (4% -5xy + 5V)

T HEITAT O 3250 A =1 @.491.5, 650 afg a< =1 7.4971.7. Fheft ?
A) 10 B) 13 C)5 D) 50

% O FHAAT AqBTA I ALHAT ATT 105° 3T T HIT [T A HaT= AT Fohel T ?
A) 15° B) 75° C) 255° D) 285

10 forex g 7 forex 250 fHefiette 3o fasmer . ax ot 3o foreas afger 2
A) 1 ferer 750 fHefefiex B) 2 forex 750 fefiefiex
C) 3 ferex 750 fasfieieT D) 3 ferex 50 faefiefiex

TOMRTE FT: (49 -7p) (-3p+9q)
A) 12p* + 75pq + 63q°
C) - 21p*+ 75 pg- 36q°

B) -21 p* - 75 pq + 369"
D) 21p* - 75 pq + 36 q°

59° HTAT=AT FHIAT=AT IS HIHAT=AT L w1 q19 fehet ?
A) 149° B) 31° C) 40° D) 90°

7,5, 8 T 3 SATOT AT S{HTURT FHIOTATST Uk 3 FTAGT ATILT SATOT HISATT HIST 4 3hT
HEAT TATE F&A (oIaT .
A) 8557 B) 8575

C) 8857 D) 8875




41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

ST(2xm)* =256 @m="7?
A) 16 B) 8 c) 2 D) 4

o7 Srfor & 30000 9 T 8 : 7 AT THIUTA AT =dTd. I AT fehe | =93 Had 1 ?
A)Rs.16000  B)Rs.8000  C)Rs.7000  D)Rs. 14000

15,8, 30 AT "gem=T a.9r.f9. &t ?

A) 30 B) 120 C) 240 D) 360
S 4a’ - 20ab + 25b°
43’ - 25b°
4a - 5b 2a + 5b 2a - 5b 4a + 5b
A) Za+5p B) 2a-5b “) 2a+5b 5 4a - 5b

FSTETHT 27 © 9 km 800m -  5km 950 m
A)3km 850 m B) 4km 850m C)4km 50 m D) 4km 200m

T FATAATAT ST GreATel Toht FHIoTd LT 77 38

A) T AASTHIT TSATT AT T THTS

B) 3 ThTS AT T AqBTRIL JIATT
C) d19at A ThTE TIATT

D) I A TRIT TSHNT AT T HTE TATT

U HeT FTaeTET A 36% =, W@W?%—Iﬁ. FraeT=t g Y see 2
A) Rs. 237 B) Rs. 273 C)Rs. 723 D) Rs. 732

qEI STQUITARTATS o =T &1 fhea forgr 883. 078.
A) 0.8 B) 0.7 C) 0.07 D) 700

20 Ty oier AT 16 T ¥ 91U UF AT 248HY Aver afor 21 T 7 grar=ar
FTS dlE AL (Fhedd g . TL IS A1 LA LATHIT AN AAFb Thl 2

A) 184 sq.cm. B) 824 sq. cm . C) 194sq.cm. D) 284 sq.cm.

ST(X+y)=4 ,xy=8TT X’ +y’ =7
A) 12 B) 16 C)0 D) 2
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